.
, e/
=
|
VA
v 2
“ K 2 \
/@&u/ FER /
VA
. 7

L bl
/7
a (i
VAN &
\ o
I o
A0 <
q 7 \

/

//

/;

[

<o =

—— 5

¢
-

[ —

N¢ 1 \
/,,
) Ji— s
<7 0 ¥
3
.

E3513-0413




E 3513-0413

Position

Menge

Teile-Nr.

Hinweis Position

Menge

Teile-Nr.

Hinweis

1 1| 11001154 31 20029011 |VSKZz 8
2 1| 25030002 |DIN908-M14x1,5 32 11001510
3 2| 11001056 33 21000691
4 10| 25040076 |DIN933-M20x55 34 25044005 | DIN912-M8x20
5 10| 21000658 35 20029011 |VSKZ 8
6 2| 11001206 36 25030016 | DIN910-M10x1
7 20| 25038013 | DIN933-M10x20 37 25008012 | DIN7603-10x16x1
8 20| 20029033 |SKM 10 38 20020562
9 11 11001207 39 21001075
10 1| 21000690 40 20029030 |SKM 16
11 16| 25038014 | DIN933-M10x25 41 25031006 | DIN934-M16
12 16| 20029025 | Nord-Lock 10,0 42 25025009 |DIN1587-M16
13 4/ 21001337
14 4/ 20029001 |VSK 10
15 4 25031004 |DIN934-M10
16 1| 11001053
17 1| 21000691
18 1| 21000692
19 6| 25044005 |DIN912-M8x20
20 6| 20029011 |VSKZ 8
21
22
23
24 1| 11001090
25 1| 11001507
26 6| 21000589 | DIN7964-M8x30
27 6| 20029003 |VSK S8
28 2| 11001055
29 2| 21000691
30 8| 25044005 |DIN912-M8x20

01.23




E 3514-0919



E 3514-0919

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

11001208

11001092

25015018

21000693

25034021

11001209

11001210

11001101

20029030

25044100

20029011

11001211

25045037

25025157

11002503

11001097

21000694

11001216

25035014

21000693

11002502

11001099

21000781

25028004

10016387

25001703

25035018

25034025

20013275

21000909

DIN471-A55x2,0

SKM 16
DIN912-M8x16

VSKZ 8

DIN912-M12x45-10.9

DIN472-J90x3,0

DIN6325-8x100

DIN915-M10x25

DIN472-J32x1,20

DIN471-A15x1,0

DIN908-M10x1

31

32

33

34

35

36

37

38

39

40

41

11001213

25045037

25025157

11001478

25044006

20029011

21000898

25044080

20029006

25008004

25034021

DIN912-M12x45-10.9

DIN912-M8x25

VSKZ 8

DIN912-M5x25
VSK 5
DIN7603-10x14x1

DIN471-A55x2,0

ab Serien-Nr. 50011887

09.19




